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This is a support to »''2 - 9% 32 PRI 9290 b IR

OVERVIEW

The X713 explains that n7271 is the same as 7™M2w according to YW °27, since
nMIwh 01910BR PR, In both case we assume that she was 7% 91097 79val1. The
X713 asks that there is a difference between a 712w and a n7271. By a 712w there
are 77¥K 0°2109 217, however by a nN1271 there are 793X 0°w> 217, Why should
we assume by a n1a7n that she was 1% 91092 7%v21? The X3 concludes that
since (regardless of the previous question) >"7 maintains that 72w 117 7277,
this supports the view of "2 that X" 2" were 7°w2n a 727 even by 21
¥R 0°900. Therefore it is understandable that > disagrees, for he maintains
that a n1272 by 728X 2909 1 is equivalent to a 7aw.' It would still seem
however that a n7277 is different than a 72w. For by a 72w all her captors are
013, She will be 71752 79109 no matter who is 2312 her. However by a n12n
there are only 72%¥R 299109 217; perhaps she should be 717252 mn since it is
possible that she was w25 77921, Our M»oIN will discuss this issue.

nooIN asks:
- 299 X929 N29NA NN DIV b NNaAva annT Ny 79°9 NN BN 1229 AYPN

The n'' questioned this X3 that still (even after it is ascertained that 7279
2°9109 2172 779X WOn Wwoni), nevertheless " should differentiate between a
2w and a n727y; for there by a maw, she is 3707 72109, since everyone is a
Yep; all her captors are o and all are 9019 her 1797 through their ax*a.” It is
not merely a 217, however here by the ruins in the fields® there are merely a

majority of o°7109; not everyone is 2105. Perhaps in such a case even "1 should agree that
she is nInK1 to claim *noya1 w>s.

N1B0IN answers:
- Y55 2997 XM

And the n"1 answered that a majority is the same as all. The 7n teaches us to
follow the 211. The 217 has the same power as 73. We cannot differentiate between the two.

! 5"29 actually maintains that *" is Y01 even 0™Ww> 2113, where seemingly we cannot compare it to a 7M. See
772 77w 71 RO-V1 NIPNR 710,

? See “Thinking it over’ # 1.

? moon is offering an example of 27109 211 by a n72772. The X»3 previously (on the top of this Tmay), cited the
np1oma between °"11 3"7 in a RN concerning a 71371 and explained that by a X7277 72771, people come for all
over the world, which makes it 2°7109 217, since most of the world are 2”a.
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Therefore if by 22, the 712w is NIMRI 71X to claim *n%y21 XY, the same holds true by 217 (in the
case of a n127») that she is NIAXRI 71X to claim “noya1 Wwab.

mooIN anticipates a difficulty. Perhaps there is a difference between 211 and 93. 217 and %3
may be equivalent when there is no 711 that counters the 217. However when there is a npm
mw> which counters the 219, then a 211 may not be equivalent to %5. Md0N pursues this
thought, and ultimately rejects it.

= DPINY RV TINND 92V NIIN 219 NIN NIDY *11934192 Mm91Y NS
And it cannot be said that by a n2272 since there is only 0°9105 219, therefore
it is possible to argue, that the minority of 2 w> v should support the

MWD 1P of this woman. The woman had a maw> npn (before this incident). There is also
the possibility that she was 79921 with one of the o> w> v n. These two factors of ows VYN
and nw> npii should be combined to offset the 2171 —

= N2 DY YININ)

And the 2°7109 211 will be a flawed 2. A 211 is effective (only) against a v . Here
however, in addition to the 2w VY » that are present, the woman also possesses a Npin
mw>; she was born 111772% 7w, The 211 which we depended on to be 901 her, may have
been undermined by the 2 Ww> v » and the MWD Npin combined. In a case of 95 (as by
7Maw), we must assume that she was 9109% 777921, since there is not even a W2 LWN.
However by n727n, since there are a 2w vwn, this VM joins with the Mw> npn, to
disqualify the 217. We should therefore assume that w32 7%y, since the 217 has been
neutralized.” The original question remains. We cannot compare 12w which is 93, to n72am
which is only a 217 against a 03" and a MW DPIM.

mooin replies:
- YUY 529 7980913 1299 HPING XL TIND INY NN 19PN
for even if »''21 3" agree to the concept of IPIA® RV TR0 —
= NID9I NADa NON %1 XY 0991 bon
nevertheless it will not be as if there is no concern of 2°2109 at all, since the 210

was neutralized; it is not so but rather it will be considered as half against half;
there is an even chance of 2109 as of "w>. The fpPINY XYW M 7IMO may have accomplished that
the 211 is not exclusively effective; however it is not completely irrelevant. The 2°7105 217 will
now be equivalent to the M w2 NpIM 0°W2 VYN -

= NIDINY NNUIN PODYT PODN YORNY NIN 1

* See “Thinking it over’ # 3.

> See mooIn later (footnotes # 8&9).

® See w"x17 MdOIN that we can derive from a X3 in (X,u°p) mn2° that > accepts the concept of RLY”M TND
TP, [He subsequently retracts this proof. w"»v]. There would obviously be no question at all if >"3 does not
maintain P12 XYM M0 (see footnote # 9.).

7 See “Thinking it over’ # 2.
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And it is the law that she should be forbidden to 71172, for there is an evenly
divided doubt whether she was Ww>% 775v21 or 71097, for a doubt in matters of
prohibition is resolved in favor of a restricting decision. If it is not known whether

she was TWw2% 79v21 or 21097 and it is an evenly divided doubt, she is not permitted to marry a
1773, for it is a RAIT? RNMOK PoD.

mooIn anticipates a difficulty with this answer:
= (VI X,997 PVITP) PONY NIVY P91 Sn0yn 183 NSNDIY PINNT T XD

And it is not comparable to the case of a child that was found beside a

dough, which is mentioned in Pom WY PP -
- APINY NVIWN TIND DYON *PINONT

where we render the 237 10°y based on the ruling of mpIR XWW ™ Tme. A
minority of children will not have separated the dough. There is a N17w> NPT on the 7oY. We
combine the VW to the 7P and it nullifies the 217. This seemingly contradicts what 19010
maintained. That even if we assume 7pII? XV 70D, it still remains a 2pwn poo. Why is the
7MY 70°Y and the woman 77109!7?

mooIn responds:
:(3,99 9790 DTN DI P92 139ININTI PNNY NHOIN PV 1IN 970D NRMIV PID 191N ONT

For even if they ruled that a n8»w Poo is 7w, will they therefore rule that a
TR PO is permitted, as the X7ni states in 2777 51032 P99! Definitely not! We
cannot compare a MoK PoD to a Ax poo.'" A MoX poo is more stringent that a IRMY PHD.

SUMMARY
21 and 9> are equivalent (when there is no 7pm). According to those who
maintain 7PIA? RV N0, that situation is (generally) viewed as X391 X275, By

¥ In the case there (according to n2oM interpretation there) a X»u 1N was found next to a (large piece of) dough
- 7o°y. The P10 had a (small) piece of dough - px2 in his hand. The question is whether we follow the 211
children who tend to separate a %2 from an 70°y, which assumes that the p13°n himself separated the X2 from the
no°y, rendering the nRMv 70°Y; or perhaps we follow the mAw> npin of the 710y together with the vyn that the
711’0 did not separate the dough, but rather that another 7170 07X separated the p¥2 and gave it to the P1°n, in
which case the 70°Y remains 7070, There is a np19nn between the 0°non who are Xnavn the 70°% and °Rn 27 who
is 7vA.

? This is the opinion of 2" who is Xy w>n. Therefore there is a v which can be 7201 to the 7ipm. However
the 0 non maintain that the v is non-existent in the face of the 210. Therefore there can be no XY N0
7P, See previous footnote # 8; X132 W' .

10°A 9"7m2 axmv pOD is RNPIRTA V. A 2"773 IRMV POD is also XAMIRTA MY in a case where the matter in
question is 1°2¥ 28w ny7 12 PXR. In our case the p1°n is NY7 12 PR, therefore XN»7I877 the 70°Y is 71w, It is only a
question of 11277» XMY; therefore they were lenient by a 7pwn poo. However here by a 21097 79v21 poo it is a
RN 7IRT K00, Alternately (mooin states there that) the nimdwvn MPIPN 217 s not a a3 a1, Wy,
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Q0K it 1s MOXR and by XMW it is M7V (under certain circumstances).

THINKING IT OVER

1. Moo maintains that by a 72w it is 3, not merely 217."" The reason the X3
maintains that a 712w is considered 77yl is because N1IY2 %15 2"M2Y 2.
There is however the possibility that all her captors were from the ©v¥°» that are
not 2°¥119. It would seem that even by a 72w she is 3779% 719109 on account of 21,
not 93."

2. Why does n»01n mention 3" concerning fiptn Xuwm Tmo?"? Seemingly all
that is relevant is if *"9 maintains 7PII% XYW TM0; not 3"7!

3. mooin explains why we cannot say [P X0 Tmo by a n1a7a.'* Why did
MooIN omit N121wH; for there we can also say apIRY RVIWN ‘n?so?!ls

' See footnote # 2.

12 See a0, 20 MR 7010 W@
13 See footnote # 7.

14 See footnote # 4.

15 See x"wmn.
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